2004 2005 2006
6 -
335,000 326,000 316,000
70% 75% 78% (
*100
4 250 4 300 4 350
174,000 200,000 240,000
6 -
17 7 15
5 4 3




3,778,660 4,141,248 362,588
871,959 1,362,944 490,985
6: 871,959 1,362,944 490,985
6- 54,373 43,176 11,197
2,010 2,910 900
(3110-3112-120-201-01)
- 15,000 * 14 = 210
- 2,000 * 500 = 1,000
100,000 * 1 *1 = 100
(3110-3112-120-301-11)
50,000 * 8 400
50,000 * 3 * 2 300
11,692 10,794 898
(3110-3112-120-201-01)
70,000 * 15 * 4 = 4,200
(3110-3112-120-202-01)
49,000 * 3 *2 *6 = 1,797
49,900 * 3 *3 *6 2,695
(3110-3112-120-203-03)
2,000
1,000
23,571 21,872 1,699
(3110-3112-110-101-10)
(=16,351)
27,400 * 2 * 280 = 15,344
(=1,007)
- 15,344,000 * 4.5% = 691
- 15,344,000 * 1.45% = 223




( @ )
- 15,344,000 * 0.6% = 93
(3110-3112-120-201-01)
5,000 * 14 * 24 = 1,680
5,000 * 14 * 24 = 1,680
5,000 * 14 * 48 = 3,360
(3110-3112-220-405-01)
( ) 500,000 * 1 = 500
17,100 7,600 9,500
(3110-3112-120-201-01)
- 16,000 * 250 = 4,000
- 6,000 * 500 = 3,000
300,000 * 2 *1 = 600
(3110-3112-220-207-02)
(=9,500)
500,000 * 1P = 500
60,000 * 100P = 6,000
3,000,000 * 1 = 3,000
817,586 1,319,768 502,182
34,718 20,449 14,269
(3110-3112-110-101-10)
34,500 * 6 * 14 = 2,898
(3110-3112-120-201-01)
200,000 * 2 * 1 = 400
600,000 * 1 *1 = 600
(3110-3112-220-206-00)
80,000 * 25 = 2,000
(=7,420)
29 25,000 * 30 *2 = 1,500




10 60,000 * 11 * 4 = 2,640
29 40,000 * 30 * 2 = 2,400
2,000 * 440 = 880
200,000 * 10 2,000
50,000 * 70 = 3,500
(=1,200)
, = 800
4,000 * 100 = 400
(3110-3112-220-207-01)
2 = 14,700
440,400 966,000 525,600
(3110-3112-220-401-01)
(=14,700)
350,000 * 42m = 14,700
(=40,000)
30,000 * 1,000m = 30,000
500,000 * 20 = 10,000
25,000 * 2,000 = 50,000
(=20,700)
660,000 * 20a = 13,200
2,500 * 3,000m = 7,500
(=90,000)
100,000 * 410 = 41,000
45,000 * 1,000m = 45,000
1,000 * 4,000m = 4,000
(=93,000)
42,000,000 * 1 = 42,000
21,000,000 * 1 = 21,000




)
( ] ; ) 30,000,000 * 1 = 30,000
(=132,000)
80,000 * 775 = 62,000
1,000,000 * 12 = 12,000
23,000,000 * 1 = 23,000
10,000,000 * 1 = 10,000
25,000,000 * 1 = 25,000
329,984 316,835 13,149
(3110-3112-110-101-09)
CED) 6 ) (=307,990)
28,630 * 14 * 300 = 120,246
120,246,000 * 4/12 = 40,082
42,950 * 14 * 12 = 7,216
28,630 * 14 * 15 = 6,013
28,630 * 14 * 65 = 26,054
120,246,000%1.5/12*50%*2 = 15,031
120,246,000 * 10% = 12,025
5,370 * 30 * 14 *12 = 27,065
14,320 * 8 * 1/2 * 300 = 17,184
42,950 * 8 * 15 = 5,154
120,000 * 14 * 12 = 20,160
70,000 * 14 * 12 = 11,760
(=21,994)
307,990,000 * 1.45% = 4,466
307,990,000 * 4.5% = 13,860
307,990,000 * 0.6% = 1,848
(=1,820)

- (=1,040)




70,000 * 560
60,000 * 8 480

- (=780)
20,000 * 6 120
60,000 * 6 360
23,000 * 6 138
10,000 * 6 60
12,000 * 6 72
5,000 * 6 30

12,484 16,484 4,000

(3110-3112-220-206-00)

2,500 * 365 12 = 10,950
(=1,534)
2,500 * 6 *5 *12 = 900
5,000 * 26 = 130
2006 *25 *12 = 360
2,000 * 6 * 12 = 144
2,906,701 2,778,304 128,397
(3110-3112-110-101-01)
(=598,093)

-4 2,369,300 * 1 12 *1.024 = 29,114
5 2,131,600 * 2 12 *1.024 = 52,387
-6 1,799,700 * 5 12 *1.024 = 110,574
7 1,410,200 * 13 12 *1.024 = 225,271
-8 1,134,700 * 5 12 *1.024 = 69,716
1,555,600 * 2 12 *1.024 = 38,231
1,348,500 * 2 12 *1.024 = 33,141
9 1,169,400 * 1 12 *1.024 = 14,370




10 686,000 * 3 * 12 * 1.024 = 25,289
598,093,000 * 2/12 = 99,683
598,093,000 * 2/12 = 99,683
(3110-3112-110-101-02)

(=90, 389)
-5 8,506 * 2 *35  *12 *1.024 = 7,317
-6 7,216 *5 *35 %12 *1.024 = 15,518
-7 6,475 * 15 * 35  * 12 * 1.024 = 41,772
-8 5,802 * 7 *35  *12 *1.024 = 17,468
-9 5,204 * 1 *35  *12 *1.024 = 2,239
-10 4,708 * 3 * 35  * 12 * 1.024 = 6,075

(=21,625)

30,000 * 34 * 0.78 * 12 = 9,548
20,000 * 34 * 1.48 * 12 = 12,077

(=8,995)
46,500 * 34 * 0.20 * 4 = 1,265
355,200 * 34 * 0.16 * 4 = 7,730

(=35, 280)
.25 130,000 * 8 * 12 = 12,480
20 25 110,000 * 7 * 12 = 9,240
15 20 80,000 * 4 * 12 = 3,840
10 15 60,000 * 6 * 12 = 4,320
510 50,000 * 9 * 12 = 5,400
«C ) 30,000 * 7 * 12 = 2,520
249,670,800 * 6% * 1.024 = 15,340
29,114,000 * 11% = 3,203

(=3,660)

-5 25,000 * 1 *12 = 300




€ )

(3110-3112-110-101-03)

(3110-3112-110-101-04)

(=52,080)

(3110-3112-110-101-05)

(3110-3112-110-101-06)

(3110-3112-110-101-07)

15,000 * 8
10,000 * 1
30,000 * 5
(=660)
30,000 * 1
15,000 * 1
10,000 * 1
40,000 * 1
50,000 * 2
36,000 * 1

130,000 * 34
130,000 * 17

140,000 * 3
130,000 * 20
120,000 * 11

120,000 * 17

598,093,000
243,907,000

598,093,000
243,907,000

598,093,000
243,907,000

*

*

*

*

*

*

*12 =
*12 =
*12 =

*12 =
*12 =
*12 =
*12 =
*12 =
*12 =

*12 =
*12 =

* 12
* 12
* 12

*12 =

1.5/12 =
1.5/12 =

2.5/12 =
2.5/12 =

18/288 =
18/288 =

1,440
120
1,800

360
180
120
480
1,200
432

53,040
26,520

5,040
31,200
15,840
24,480

74,762
30,489

124,603
50,814

37,381
15,245




)
(3110-3112-110-101-08)
(=477,783)
1,167,600 * 17 * 12 * 1.024 = 243,907
243,907,000 * 2/12 = 40,652
243,907,000 * 2/12 = 40,652
(=123,701)
- 5,506 * 17 * 67 * 12 *1.024 = 77,063
- 14,680 * 17 * 365 * 1/2 * 1.024 = 46,638
(=10,813)
- 30,000 * 17 * 0.78 * 12 4,774
- : 20,000 * 17 * 1.48 * 12 6,039
(=4,498)
- 46,500 * 17 * 0.20 * 4 633
- 355,200 * 17 * 0.16 * 4 3,865
(=600)
- 20,000 * 1 * 12 240
- 10,000 * 3 * 12 360
(=12,960)
-25 130,000 * 1 * 12 1,560
-15 20 80,000 * 2 * 12 1,920
-10 15 60,000 * 9 * 12 6,480
5 10 50,000 * 5 * 12 3,000
(3110-3112-120-201-01)
50,000 * 12 600
143,000 * 6 858
1,000,000 * 2 2,000
(=10,010)
- 80 * 1,000 * 10 800




(=96)
(
(=700)
—A
-B4
-FAX
S/W (=1,600)
- 2004
- s/w

(=2,023)

(=4,500)

500,000 * 1
1,000 * 500

12,000 * 1 * 3
10,000 * 3 * 2
230 * 4,276

7,000 * 3 * 12
50,000 * 2 * 2
100,000 * 4

22,200 * 2 * 12
3,700 * 10 * 12
2,000 * 10 * 12

25,000 * 10
30,000 * 15

16,490 * 20 * 4
24,630 * 5 * 2
38,000 * 6 * 2
132,000 * 4

198,000 * 5 * 4
45,000 * 12
30,000 * 30

60,000 * 10
500,000 * 2
1,100,000 * 1

500
500

36

60
984
252
200
400
533
444
240

250
450

1,320
247
456
528

3,960
540
900

600
1,000
1,100




-10-

(=6,720)

)
150 * 91,149 * 2 = 27,345
632,280 * 12 = 7,588
3,200 * (52 +504 ) *2 = 3,559
= 3,000
= 5,830
(=1,284)
- 210 * 200 * 12 = 504
- 1,300 * 50 * 12 = 780
40,000 * 12 * 12 = 5,760
-DID 6,200 * 5 * 12 = 372
25,000 * 1 * 12 = 300
TV (=588)
- 18,000 * 2 * 12 = 432
- 6,500 * 2 * 12 = 156
3,000 * 18 = 54
(=372)
- 133,000 * 1 = 133
- 157,000 * 1 = 157
- 41,000 * 2 = 82
(=239)
- 140 * 1,500cc = 210
- 28,500 * 1 = 29
(=29,500)
- 160 * 80,000 * 2 = 25,600
- 24 * 80,0000* 2 = 3,840
— = 60
30,000,000 * 12 = 360,000




(=24,329)

)

350

350 * 4,420.08 * 1.20 * 50%

400,000 * 12
4,800,000 * 40%

*79,590.30 * 1.68 * 50%

(=204)

(=84)

100,000 * 1

36,000 * 1
48,000 * 1
20,000 * 1

(=7,153)

(=14,140)

(=172)

(=15, 849)

540,200 * 12 *1.1
22,000 * 1

30,000 * 1 * 102
30,000 * 1 * 352
40,000 * 1 * 13

150,000 * 17 * 1
150,000 * 17 * 1

20,000 * 4
23,000 * 4
5,000 * 32 *6 *12

586 * 75 * 18 *5 =

4,800
1,920

23,400
929

100

36
48
20

7,131
22

3,060
10,560
520

2,550
2,550

80

92
11,520
3,956

-11-




-12-

)
531 * 75 * 8 * 40.8 = 12,999
291 * 60 * 4 * 40.8 = 2,850
586 * 75 * 18 * 3 = 2,374
(=101,072)
2,470 * 6,588 = 16,273
997 * 85,054 = 84,799
(=26,324)
500,000 * 2 = 1,000
1,000,000 * 100 * 2% = 2,000
30,000 * 1,560 * 4 * 2% = 3,744
20,000,000 * 25 * 3% = 15,000
MCC 400,000 * 85 * 3} = 1,020
89,000,000 * 1 * 4% = 3,560
(=26,249)
924,000 * 1 = 924
100,000 * 14 *1 = 1,400
50,000 * 4,970 * 5% = 12,425
1,000,000 * 4 * 2 8,000
70,000 * 10 * 5 = 3,500
(=20,460)
175,000 * 6 *2 = 2,100
500,000 * 35 * 20% = 3,500
13 5,600,000 * 1 = 5,600
200,000 * 106 * 10% = 2,120
= 3,000
23,000,000 * 6 * 3% = 4,140
68,171,000 * 6% = 4,091




(=17,710)

(3110-3112-120-202-01)

(3110-3112-120-203-01)
“ )

(3110-3112-120-203-02)

(3110-3112-120-203-04)

(=7,200)
.16 30
(3110-3112-120-204-01)
(=7,200)
“ )
G )

(3110-3112-120-204-02)

90,000,000 * 6%

11,212,000 * 8%
40,000,000 * 15%
58,753,130 * 8%
28,836,000 * 8%
11,638,000 * 15%
5,600,000 * 8%

30,000
300,000

3,349,000
2,657,000

10,000 * 8 * 32

30,000

*

1.1
1.1
1.1
1.1
1.1
1.1

12

34

300,000 * 2 * 12

400,000 * 1 * 12
100,000 * 2 * 12

5,400

987
6,600
5,171
2,538
1,921

493

400

120

300

10,000
3,349
2,657

30,720

3,000

1,020

7,200

4,800
2,400

-13-




-14-

)
(=80,220)
-4 400,000 * 1 * 12 = 4,800
-5 250,000 * 2 * 12 = 6,000
-6 155,000 * 5 * 12 = 9,300
7 7 ) 140,000 * 15 * 12 = 25,200
8 ( 89 ) 105,000 * 8 * 12 = 10,080
10 95,000 * 3 * 12 = 3,420
105,000 * 17 * 12 = 21,420
(3110-3112-120-204-03)
(=28,800)
50,000 * 31 * 12 = 18,600
50,000 * 17 * 12 = 10,200
(3110-3112-120-301-11)
( ) = 16,000
(3110-3112-220-405-01)
700,000 * 1 700
(FAX) 700,000 * 1 700
440,000 * 9 3,960
971,600 * 3 2,915
(=344)
171,900 * 2 = 344
(=284)
94,600 * 3 = 284




